

Name = Awais Ahmad Khan

I.D :- 7738

Sec :- 4C⁴

Quiz :- 01

Date :- 19-9-2020

Submitted to :- Miss Shomaila
Mazhar

Subject :- Applied calculus.

$$Q1:- \int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} dt$$

Solution:- $\int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} dt$

$$= \int_0^1 \frac{4t^3 + 3t - 2t^2 - 1}{2t^2 + 1} dt$$

$$= \int_0^1 \frac{t(4t^2 + 3) - (2t^2 + 1)}{2t^2 + 1} dt$$

$$= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - \int_0^1 \frac{2t^2 + 1}{2t^2 + 1} dt$$

$$= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - \int_0^1 1 dt$$

$$= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - [1 - 0]$$

$$= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} - 1 \rightarrow \textcircled{1}$$

Now,

$$= \text{Set } 2t^2 + 1 = y \quad \Rightarrow 2t^2 + 1 = y$$

$$\text{As } t \Rightarrow 1 - e \quad y = 3 \quad \left[\begin{array}{l} 2t^2 = y - 1 \end{array} \right.$$

(2)

$$= t \rightarrow 0 \text{ i.e. } y=1 \quad \left. \vphantom{t \rightarrow 0} \right\} = 4t^2 = 2y - 2$$

Now Differentiate $\left. \vphantom{\text{Now Differentiate}} \right\} 4t^2 + 3 = 2y - 2 + 3$

$$= 4t = \frac{dy}{dt} \quad \left(4t^2 + 3 = 2y + 1 \right)$$

$$= dt = \frac{dy}{4t}$$

$$= \int_1^3 t \frac{(2y+1)}{4} \frac{dy}{4t} - 1$$

$$= \int_1^3 \frac{2y+1}{4y} dy - 1$$

$$= \frac{1}{4} \left[\int_1^3 \frac{2y}{y} dy + \int_1^3 \frac{1}{y} dy \right] - 1$$

$$= \frac{1}{4} \left[\int_1^3 2 dy + \int_1^3 \frac{1}{y} dy \right] - 1$$

$$= \frac{1}{4} [2y \Big|_1^3 + \ln y \Big|_1^3] - 1$$

$$= \frac{1}{4} [2(3) - 2(1) + \ln(3) - \ln(1)] - 1$$

(3)

$$= \frac{1}{4} (6 - 2 + 1.0986) - 1$$

$$= \frac{1}{4} [5.0986] - 1$$

$$= 1.27465 - 1$$

$$= \boxed{0.2746} \text{ Ans.}$$



$$Q2:- \int_2^3 t \sin t^2 dt$$

Solution:- Let $t^2 = y$

Diff w.r.t t^2

$$2t = \frac{dy}{dt}$$

$$\begin{aligned} t^2 &= y \\ (3)^2 &= y \\ 9 &= y \end{aligned}$$

$$dt = \frac{dy}{2t}$$

Now,

As $t \rightarrow 3$ then $y = 9$

As $t = 2$ then $y = 4$

So,

$$= \int_2^3 t \sin t^2 dt = \int_4^9 \cancel{t} \sin y \frac{dy}{\cancel{2t}}$$

$$= \int_4^9 \sin y dy$$

$$= -\cos y \Big|_4^9$$

$$= -[\cos(9) - \cos(4)]$$

5

$$= - [0.9876 - 0.9775]$$

$$= - (-0.00987)$$

$$= \boxed{+0.00987} \text{ Ans.}$$

